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BC-01
December - Examination 2019
B. Com. Pt. | Examination
Financial Accounting
Paper - BC-01
Time : 3 Hours ] [ Max. Marks :- 70

Note: The question paper is divided into three sections A, B and C.
Write answers as per the given instructions.
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Section - A 7X2=14
(Very Short Answer Questions)

Note: Answer all questions. As per the nature of the question
delimit your answer in one word, one sentence or
maximum up to 30 words. Each question carries 2 marks.
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Explain entity Concept.
N et SITYRUT AT |
“Debit the receiver credit the giver” this role is related to
which type of account?

'O gTel I Sfde JUT S dTet BT shfsea™l’’ Ig - g
UYPpR P WIal & fAw g ?

When suspense account is opened?

REERCINICT RGBSR

Give any two examples of capital loss.
USTNT BT & PIS QI IGTeRUT |

Explain “Error of Commission”.
" e et a1’ e

Give the formula of findingout depreciation on the basis of

fixed instalment method.

Tt foreea fafY & o gt Fihre &1 93 fora|

(vii) Give opening entry if total assets of a firm is Rs.2,00,000

Note:

and liabilities (outside) are Rs.1,40,000 as on 31t march
2019.

31 A 2019 @ wH 6 P FEEfRT 2,00,000 @, g
g (amest) %.1,40,000 & af TR ufafse sHrg|

Section - B 4 xX7=28
(Short Answer Questions)

Answer any four questions. Each answer should not
exceed 200 words. Each question carries 7 marks.
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2) Prepare Total Debtors Account from the following :

Ifhd ¥ P AR T IS |

.
(i) | Opening balance of clebtors (SgRT @ 1T, 2) | 1,00,000
(i) | Total Credit Sales (FT IGR fh) 1,50,000
(i) | sales returns (fa@ma aro=it) 5,000
(iv) | Cash received (77 uTe fomam) 1,60,000
(V) | Discount allowed (dgT &) 4,000
(Vi) | Bills Receivable (W faat) 10,000
(Vi) | Bill Receivable dishonoured (fda 3T gam) | 4,000
(viii) | B/R discounted with bank (fSe & & 1)) 2,000

3) What is Memorandum Joint venture Statement? Why and how
is it prepared?

Ueh TR Fch ATE fIavur a7 g ? I8 i 3iR ol (IR o
ST 8 7

4) What do you understand by “Consignment of goods”.? Explain
the difference between Consignment and sale.

HTcteT UYUT I 3T AT AHSIA & 2 U901 g fagha # 3R garsd|

5) Write the journal entries in the books of purchaser. Which is
purchased goods under installment payment system.

Shell 1 GRiehl H el HfdfSeal SRl afs Sa+ fooed e
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6) Write short notes on the following.
freifha o= dférea fewafor foran
() Outstanding Expenses (3T <I¥)

(i) Unearned Income (JUfofd 3m)

7) Differentiate between Provision & Reserve.

AN @ o § 3R §aTsy|

8) Explain “Accounting Cycle”.
"gIHT TH DT AT |

9) Explain reducing balancing system of depreciation.
qed &1 & Ted! g8 A9 Ughd al qesTs|

Section-C 2X14=28
(Long Answer Questions)
Note: Answer any two questions. You have to delimit your each

answer maximum up to 500 words. Each question carries
14 marks.

(T@vs - 4)
(Sref ST ¥9d)

fAder : gl Q1 Ul & IR SIRUI 31T 319+ IR B 31ferpad 500
grect o g Hif| U ueT 14 3T & Bl

10) Write a note on “Persons Interested in Accounting”.
"G | BT TEaTel Jfhdl’’ R T oG foral|
11) Write Short notes on the following :
forifehd R wféred fewfort foran

(i) Inter Branch Transaction (3f=: 9IRgT dgR)

BC-01/400/5 (4) (Contd.)



057

(i) Goods in Transit (97 & A7)
(iiiy Cash in Transit (97 & AHs)

12) Journalize the following transactions :

fo=ifopd agRT S ufafee SRR -
.
() | Capital introduced (dSft TTTS) 1,00,000
(i) | Goods purchased (Tt s ) 75,000
(ii)) | Good sold to Ram (I I AT ) 70,000
(iv) | Rent Paid (fmmm garan) 7,000
(V) | Drawings (3T&or) 5,000
(vi) | Cash received from Ram in full settlement 68,000
(M & guf PIdE & S50t 9 U §Y)
13) Prepare Trading Account from the following :
f=ifhd & IR QAT 99
.
() | Opening stock (WRf® i) 10,000
(i) | Cash purchases (g ) 50,000
(ii}) | Credit purchases (IR &) 40,000
(iv) | Purchases Return (3531 aTo=dt) 2,000
(V) | wages (F51c3) 3,000
(Vi) | carriage inward (3Tma et aTST) 4,000
(Vi) | sales return (faspar arodt) 1,000
(viii) | Closing Stock (3ifc ¥ei) 10,000
(iX) |Sale (faem) 1,25,000
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